MAT 011, Factoring, Part 2 (6.3)

a. 2x%+4+13xH# 15

(QX 43 ) (x+ ‘S)

b. 2x%—9x —|5

(‘M-H)(ﬁ ~5)

c. 8a®+14a%+ 3a
A (R + Ya +3)
A Yo+ D(pat3)

d. 4x3 —9x2 - 9x

X (G —x -1}
X (e +2)(x =3)

e. 12x2+17x+5

(12 % 45)(x41)

2. Factor the perfect square trinomial.

a. x*+22x+121
R_

(x+\\)

b. x*+4x2+4

(W)

=
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1. Factor completely. Use the trial and error method.

f.21x% - 31x + 10

|
(2\><~J0)F(>< -1)
g. 6x2 — 13#3; + 5y2

|

(2x~y ) (3x- Sy

h. 16t + 15t — 15

t-3)(3¢+9)

i-x% 4 2x

dix?—12x :36
(x -~ b\)l-

e.[16a2 — 24? +9

(4o 3
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c. 9y?+48y + 64
(3‘~; + 8)L

3. Factor completely.
a. 2x?—7x—[99

(2x411){

b. 40a?b + 9ab — 9p

b (B - D52+ 3)
| B(4oa* + 9 -9)

C. y+8y2__9
B2 +v -

(8y )y ~1 )

d. 3a?h? +12ap +1

%’/\/fmc:_.

e. 3x%(a+3)%+

@WB}B (,5}@ 2% 125)
() Bt 23—

28x(a +3)* + 25(a + 3)?

f. 24x2 — 49x + 15

e - - ¥
(F€+ )k~ 0
. =12x%y% +8x%y? + 15xy?

el %—%)(x—r\)



